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Ocm 50cm 100cm 150cm
FE 5B bR R EE
A o B 2 BT 0.043 0.052 0.051 0.052
B T H®XREXM 0.066 0.061 0.056 0.054
128178
C KREHREXM 0.086 0.082 0.073 0.072
D FIKEXFT 0.057 0.062 0.059 0.064
PE 5B bR & AR
A B2 BT 0.039 0.047 0.051 0.056
B THHREXR 0.066 0.054 0.052 0.063
1821H
C KEHBREXM 0.077 0.074 0.069 0.075
D FIKLEXFT 0.053 0.063 0.053 0.050
PE 5B bR & AR
A = B2 BT 0.056 0.053 0.050 0.053
B THHREXR 0.070 0.063 0.059 0.065
2819H
C KEHBREXM 0.097 0.090 0.083 0.083
D FIKLEXM 0.063 0.063 0.062 0.065
PE 5B bR & AR
A B2 BT 0.055 0.048 0.046 0.044
B T H®XREXM 0.061 0.054 0.052 0.056
3818H
C KEHBREXM 0.098 0.093 0.082 0.080
D FIKLEXM 0.065 0.059 0.051 0.049
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